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120,958 4 x 59,991=17,236,391.378 1%
% 7,256,391.1371%

1: ) 2.98,654 1bs 7 % 2 B = ifi £, (Long ton.).

28) 98,654
4) 3523 —10 Ibs.
20) 880—3 grs
O
2k 44-0-—-3—1(1

e 4

fl 3. 1 §L 5 AF36R] ~ Pl K =8 » ¥o
1 iy 5 W[ 36 g = 14,976 R
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1 3% % (14,976 R +3.3R)=4,538.18 %
s 453818

4 27 11" x748.
2x12=24

11
35" x 748 =26180"

12) 26180
2181’ —8"
s 21818”

ir

GWe" » i’
g 5. T 14—18—3—-26 x 24

(Long ton).

r

cwt
T 14—18—5—26=33,486 1bs 33,486 x 24=803,664

803,664 1bs 7 AR = i ¢
CWF } re

T387—-7—1-38

%‘; t!\ 378 f__7 f_lr-_bjr 4

] 6.T.17.94235 7 & "% B = ifi to

T. 17.94235 x 20
1884700 x4
3.28800 x 28
1.0864x16 T
T 1.3824 ge 17—18—3-—-1.3824
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B= RWAEARE B ® 71
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R 53 W R RS oo LR 7R
HR=8N»”*Yo
1 28 &5k % (16.8 x 8.5)=142.8 75 J5 5k

3.3221135 R x 142.8=1,5565.092 5 5 R
%:.,—1 42.8__54:. bk

2 1,655.00228 fi R

Bl 8.3754F W@*i =g v il ¥ 1K 7 3957 I
v 7 RS A v
M 7 A v 5
x=37d km.
1=1,000 m.
1=39.37 in.
12=1 ft.
3=1 yd.
22=1 ch.

875 x 1,000 x 39.37 i
0 X 3937 = 17,659.988 ch.

2 17,659 ch 2 yd 2 .t 2. 496 inch
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11.
12.

13.
14.
15.
16.

oW OR R W LB
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STHr 3~ MK =B » 2,
BERBROSSF MR, BPFI=F»2,
KM e EREL, AB= 5 75 xo

T 24
6—14—2—19—11(short ton)
T e L re Fy

26—19—3—27—4 (Long ton)
1 ml 6 fur. 8 ch. 14 yd. 1 ft.

4 ml 7 fur. 6 ch. 11 yd. 2 ft. 11 inch.

6 bus. 2 pks. 1 yal. 3 yts. (3)
5bus. 1 pk.6qt. (k)
4 E3F 14 W
154 9 £ 115 6 &8
X/ M8 EFH= 7 7n 17-18 .
4

6,579.464. 1bs (Long ton) ,
135,764 1bs (Short ton)

6.75495ton ( 7 )

9.57485 ton (Long ton)

2.48586 ml.

4,74648 ml.

B=n RWZRE R W 73

17. - 675,485 inch.
18. 1,695,462 inch.

T—_FF—__';*
19. 244—-6—-3—14x648
T e | e A

2). 698—19—-21—-15x745
2. 6ml8ch.9yd. 2t x28

22. 348 ml. 9 ch. 21 yd. 1ft x 185

T ' i i
23. 279—-2-3—-16—15+-22

24, 5ml4ch20yd1ft+15

25. 694.225 ton (Long ton) » 3k # I r = & =2 WV
Ay 1@7564 ¢ F 2T ¥,

26. 254M8 36 §§ 20 {§ ~ T # 4T P o MY 4 B = %
ho B 185y 301752 R b 2T ¥,

21. Etl’ 11" §g6° 10" 2 W 7 ;R 2 2,

28. E28" g 6" BT S BE 7 R 2 2°

29. E15°85" §g1376.2" E19°8.6” » G HT # K 2

5

30. 36,980 ton (Long ton) » J& 7 A4 H = & » &,

My 1 HEO0TRF =81
31. 37,500 ton (short ton) » MKt =B » », fH ¥
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64 Wit FWiE

R 7 EBZPXREPERE »Bd 2 r 1
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PTI SMBRERBES 2 M 7 4 7,

() U1 (Leakage) i &b 4 0% / fu * %G8 ~
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B 58

i W X R 83
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BE 74 70
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‘) — ’ — SRl e | —

s 52,9509

B 3. EWR 125000 % 2 Ak v VR v 7 A 2 Bk R
k=B 2 VPRV v 7 KD+ REA)
169 F+ v b 2 A%k 7 LR BFE  F v 2

o4k 7 IE4g b ~MEKAEED ~ ik =29,

SR +8l % 2 n)=2 7119 7 N~ %

verzF )
R & 125,0001F
| 20.600
A 1o < —
% A7 7K 5 98 7K BHG 0l =
1195=11,550 (+
116,550 FF

%% 116,550%F

B4 I gESSEL 7 9, 161 2 I ~112F = 5% v 3%
g

/A YRRy 745 %AW P v T

Lo

smRr w OR O N 8"

% 7 %8 %29 v & 78R 7 207 B R
24+ v a, X2 v+ Long ton = 7 53 ¥
e’ AP RME v BT NIEHRA
ANy,
Al it
112 x 36=3,920)

WAl 2% = 78,4000 254,
3,663

— i —— —

23,005 48 &
1 ton x(3,765.3+1,693.44)

= 2.22397 S AT
T Bendinl ~28=11-1:3560
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Lt SR MY 7 28067 Vo 162 Y
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SKFAOLF ) v 4 7887 Mg R F
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L1 7 ), 182 148 ~46F8H =
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